Connecting modules for ABITIG® GRIP / Little / -MT (liquid cooled)

BCS-00 compatible BCS-07 compatible

BSB 35-50 ZA 9-pole r

=2 =

BCS-01 compatible BCS-08 compatible
BSB 35-50 M12x1

BCS-02 compatible Lorch BCS-12 compatible
(Gas central NW 6) 7/8"'-14G UNF

BCS-03 compatible BCS-15 compatible
WZ-0 9/16'’-18G UNF

BCS-04 compatible BCS-16 compatible
WTW-5 r 7/8'’-14G UNF LH
Hil
Y wod
BCS-05 compatible BCS-17 compatible
Cloos BSB 10-25
==
BCS-06 compatible BCS-19 compatible
G3/8" Oerlikon

@

6.8 Subject to change without notice. Guarantee for genuine ABICOR BINZEL spares only.




Connecting modules for ABITIG® GRIP / Little / -MT (liquid cooled)

BCS-20 compatible BCS-34 compatible
Dalex (Gas central WZ-2
NW 11)
—
BCS-21 compatible BCS-35 compatible

Dalex (coolant return
flow NW 11)

Kemppi (TTC Series)

BCS-22 compatible
BSB 10-25

- =

BCS-36 compatible
Fronius (Gas central
NW 10.4)

Oerlikon (Gas
zentral NW 12)

BCS-25 compatible

BCS-26 compatible Lincoln

BSB 35-50 (Gas central) r

BCS-27 compatible
BSB 10-25
:mm:‘zhj
BCS-33 compatible
SAF (Gas central

NW 12.2)

6.9



Connecting modules for ABITIG® GRIP / Little / -MT (liquid cooled)

Pos.

N N L R S S A R R O N~ - W W W W W W W W wWwww w N RN RN NN DD NN NN

U O O O O O b0 O O O On

o
=)

Description

BCS-00 compatible BSB 35-50
BCS-00 connecting module

Rubber sleeve

Hose 49 black @ 3.9x1.5

Hose clamp @ 8.2 mm with ring (mark 8.7)
BCS-01 compatible BSB 35-50
BCS-01 connecting module

Cable support machine side small

Cable support machine side cover small
Strain relief

Sealing cover

Lock ring ND 31

Cable support spring

Pan head screw M4x6

Screw cap 2

Hose 49 black @ 3.9x1.5

Hose clamp @ 8.2 mm with ring (mark 8.7)

BCS-02 compatible Lorch (Gas central NW 6)

BCS-02 connecting module

Cable support machine side small

Cable support machine side cover small
Strain relief

Sealing cover

Lock ring ND 31

Cable support spring

Pan head screw M4x6

Screw cap 2

Hose 49 black @ 3.9x1.5

Hose clamp @ 8.2 mm with ring (mark 8.7)
Hose clamp @ 7.5 mm with ring (mark 8.0)
BCS-03 compatible WZ-0

BCS-03 connecting module

Cable support machine side small

Cable support machine side cover small
Strain relief

Sealing cover

Lock ring ND 31

Cable support spring

Pan head screw M4x6

Screw cap 1

Adaptor nut M33x2

Hose 49 black @ 3.9x1.5

Hose clamp @ 8.2 mm with ring (mark 8.7)
Hose clamp @ 7.5 mm with ring (mark 8.0)
BCS-04 compatible WTW-5

BCS-04 connecting module

Cable support machine side small

Cable support machine side cover small
Strain relief

Sealing cover

Lock ring ND 31

Cable support spring

Pan head screw M4x6

Screw cap 1

Adaptor nut M33x2

Hose 49 black @ 3.9x1.5

Units

40m
20 Pcs.

20 Pcs.
20 Pcs.
40m

20 Pcs.

20 Pcs.
20 Pes.
40m

20 Pes.
20 Pes.

20 Pcs.
20 Pes.

40m

20 Pes.
20 Pes.

20 Pes.
20 Pes.

40m

Part-No.

771.0521
500.0272
109.0059
173.0005

770.0518
500.0432
500.0433
500.0252
500.0431
400.0987
500.0227
000.0552
500.0362
109.0059
173.0005

772.0512
500.0432
500.0433
500.0252
500.0431
400.0987
500.0227
000.0552
500.0362
109.0059
173.0005
173.0007

770.0583
500.0432
500.0433
500.0252
500.0431
400.0987
500.0227
000.0552
500.0251
500.0213
109.0059
173.0005
173.0007

770.0557
500.0432
500.0433
500.0252
500.0431
400.0987
500.0227
000.0552
500.0251
500.0213
109.0059

Product-
group

2005
9010
4050
9010

2005
9010
9010
9010
9010
9010
9010
9010
9010
4050
9010

2005
9010
9010
9010
9010
9010
9010
9010
9010
4050
9010
9010

2005
9010
9010
9010
9010
9010
9010
9010
9010
9010
4050
9010
9010

2005
9010
9010
9010
9010
9010
9010
9010
9010
9010
4050



Pos.

o O O O O~ O~ O~ O O (S}

O OO O OO O 0 O 0 O O O O 0 o oo NN

O O

11
11

12
12

13
13
13
13
13
13
13
13
13
13
13

Connecting modules for ABITIG® GRIP / Little / -MT (liquid cooled)

Description Units
Hose clamp @ 8.2 mm with ring (mark 8.7) 20 Pcs.
Hose clamp @ 7.5 mm with ring (mark 8.0) 20 Ps.
BCS-05 compatible Cloos

BCS-05 connecting module

Cable support machine side small

Cable support machine side cover small

Strain relief

Sealing cover

Lock ring ND 31

Cable support spring

Pan head screw M4x6 20 Pes.
Screw cap 2 20 Pcs.
BCS-06 compatible G3/8"

BCS-06 connecting module

Rubber sleeve

BCS-07 compatible ZA 9-pole

BCS-07 connecting module

Distance ring

Connector

Cable support machine side large

Cable support machine side cover large

Strain relief

Sealing cover

Coupling nut M38x2

Cable support spring

Pan head screw M4x6 20 Pcs.
Screw cap 2 20 Pcs.
Adaptor nut

Hose 49 black @ 3.9x1.5 40m
Hose clamp @ 8.2 mm with ring (mark 8.7) 20 Pcs.
Hose clamp @ 7.5 mm with ring (mark 8.0) 20 Ps.
BCS-08 compatible M12x1

BCS-08 connecting module

Rubber sleeve

BCS-12 compatible 7/8'’-14G UNF
BCS-12 connecting module

Rubber sleeve

BCS-15 compatible 9/16"’-18G UNF
BCS-15 connecting module

Rubber sleeve

BCS-16 compatible 7/8'"-14G UNF LH
BCS-16 connecting module

Rubber sleeve

BCS-17 compatible BSB 10-25
BCS-17 connecting module

Cable support machine side small

Cable support machine side cover small
Strain relief

Sealing cover

Lock ring ND 31

Cable support spring

Pan head screw M4x6 20 Pes.
Screw cap 2 20 Pes.
Hose 49 black @ 3.9x1.5 40 m
Hose clamp @ 8.2 mm with ring (mark 8.7) 20 Pes.

Part-No.

173.0005
173.0007

770.0562
500.0432
500.0433
500.0252
500.0431
400.0987
500.0227
000.0552
500.0362

770.0573
511.0398

772.0509
771.0502
772.0505
500.0415
500.0416
500.0252
500.0431
400.0137
500.0227
000.0552
500.0362
501.0127
109.0059
173.0005
173.0007

771.0572
511.0398

772.0586
511.0398

771.0574
511.0398

772.0587
511.0398

772.0581
500.0432
500.0433
500.0252
500.0431
400.0987
500.0227
000.0552
500.0362
109.0059
173.0005

Product-

group
9010
9010

2005
9010
9010
9010
9010
9010
9010
9010
9010

2005
4001

2005
9010
2005
9010
9010
9010
9010
9010
9010
9010
9010
9010
4050
9010
9010

2005
4001

2005
4001

2005
4001

2005
4001

2005
9010
9010
9010
9010
9010
9010
9010
9010
4050
9010

6.11



Connecting modules for ABITIG® GRIP / Little / -MT (liquid cooled)

Pos.

17
17
17
17

18
18
18
18
18
18
18
18
18
18
18
18

6.12

Description

BCS-19 compatible Oerlikon

BCS-19 connecting module

Nipple

Adaptor nut

Cable support machine side small

Cable support machine side cover small
Strain relief

Sealing cover

Lock ring ND 31

Cable support spring

Pan head screw M4x6

Screw cap 2

Hose clamp @ 5.7 mm with ring (mark 6.1)
BCS-20 compatible Dalex (Gas central NW 11)
BCS-20 connecting module

Cable support machine side small

Cable support machine side cover small
Strain relief

Sealing cover

Lock ring ND 31

Cable support spring

Pan head screw M4x6

Screw cap 2

Hose 49 black @ 3.9x1.5

Hose clamp @ 8.2 mm with ring (mark 8.7)
Hose clamp @ 7.5 mm with ring (mark 8.0)
BCS-21 compatible Dalex (Coolant return flow central NW 11)
BCS-21 connecting module

Cable support machine side small

Cable support machine side cover small
Strain relief

Sealing cover

Lock ring ND 31

Cable support spring

Pan head screw M4x6

Screw cap 2

BCS-22 compatible BSB 10-25
BCS-22 connecting module

Rubber sleeve

Hose 49 black @ 3.9x1.5

Hose clamp @ 8.2 mm with ring (mark 8.7)
BCS-25 compatible Oerlikon (Gas central NW 12)
BCS-25 connecting module

Cable support machine side small

Cable support machine side cover small
Strain relief

Sealing cover

Lock ring ND 31

Cable support spring

Pan head screw M4x6

Screw cap 2

Hose 49 black @ 3.9x1.5

Hose clamp @ 8.2 mm with ring (mark 8.7)
Hose clamp @ 7.5 mm with ring (mark 8.0)
BCS-26 compatible Lincoln BSB 35-50 (Gas central)
BCS-26 connecting module

Units

20 Pcs.
20 Pes.
20 Pcs.

20 Pcs.
20 Pcs.
40 m

20 Pcs.
20 Pcs.

20 Pcs.
20 Pcs.

40 m
20 Pes.

20 Pcs.
20 Pcs.
40 m

20 Pcs.
20 Pes.

Part-No.

773.0511
773.0519
772.0597
500.0432
500.0433
500.0252
500.0431
400.0987
500.0227
000.0552
500.0362
173.0008

770.0523
500.0432
500.0433
500.0252
500.0431
400.0987
500.0227
000.0552
500.0362
109.0059
173.0005
173.0007

773.0534
500.0432
500.0433
500.0252
500.0431
400.0987
500.0227
000.0552
500.0362

771.0525
500.0272
109.0059
173.0005

773.0536
500.0432
500.0433
500.0252
500.0431
400.0987
500.0227
000.0552
500.0362
109.0059
173.0005
173.0007

7720516

Product-
group

2005
2005
2005
9010
9010
9010
9010
9010
9010
9010
9010
9010

2005
9010
9010
9010
9010
9010
9010
9010
9010
4050
9010
9010

2005
9010
9010
9010
9010
9010
9010
9010
9010

2005
9010
4050
9010

2005
9010
9010
9010
9010
9010
9010
9010
9010
4050
9010
9010

2005



Pos.

20
20
20
20
20
20

21
21
21
21
21
21
21
21
21
21
21
21

22
22
22
22
22
22
22
22
22
22
22
22
22

23
23
23
23
23
23

24
24
24

Connecting modules for ABITIG® GRIP / Little / -MT (liquid cooled)

Description

Cable support machine side small

Cable support machine side cover small
Strain relief

Sealing cover

Lock ring ND 31

Cable support spring

Pan head screw M4x6

Screw cap 2

Hose 49 black @ 3.9x1.5

Hose clamp @ 8.2 mm with ring (mark 8.7)
Hose clamp @ 7.5 mm with ring (mark 8.0)
BCS-27 compatible BSB 10-25
BCS-27 connecting module

Cable support machine side

Rounded countersunk head screw M4xé
Hose 49 black @ 3.9x1.5

Hose clamp @ 8.2 mm with ring (mark 8.7)
Hose clamp @ 7.5 mm with ring (mark 8.0)

BCS-33 compatible SAF (Gas central NW 12.2)

BCS-33 connecting module

Cable support machine side small

Cable support machine side cover small
Strain relief

Sealing cover

Lock ring ND 31

Cable support spring

Pan head screw M4x6

Screw cap 2

Hose 49 black @ 3.9x1.5

Hose clamp @ 8.2 mm with ring (mark 8.7)
Hose clamp @ 7.5 mm with ring (mark 8.0)
BCS-34 compatible WZ-2

BCS-34 connecting module

Cable support machine side small

Cable support machine side cover small
Strain relief

Sealing cover

Lock ring ND 31

Cable support spring

Pan head screw M4x6

Screw cap 1

Adaptor nut M33x2

Hose 49 black @ 3.9x1.5

Hose clamp @ 8.2 mm with ring (mark 8.7)
Hose clamp @ 7.5 mm with ring (mark 8.0)

BCS-35 compatible Kemppi (TTC Series)

BCS-35 connecting module

Cable support machine side

Rounded countersunk head screw M4xé
Hose 49 black @ 3.9x1.5

Hose clamp @ 8.2 mm with ring (mark 8.7)
Hose clamp @ 7.5 mm with ring (mark 8.0)

BCS-36 compatible Fronius (Gas central NW 10.4)

BCS-36 connecting module
Cable support machine side small
Cable support machine side cover small

Units

20 Pes.
20 Pcs.
40m

20 Pes.
20 Pes.

20 Pcs.
40 m

20 Ps.
20 Pes.

20 Pes.
20 Ps.
40m

20 Pcs.
20 Pes.

20 Pcs.
20 Pcs.

40 m
20 Pes.
20 Pes.

20 Pcs.
40m

20 Pcs.
20 Pcs.

Part-No.

500.0432
500.0433
500.0252
500.0431
400.0987
500.0227
000.0552
500.0362
109.0059
173.0005
173.0007

770.0558
770.0560
009.0201
109.0059
173.0005
173.0007

773.0537
500.0432
500.0433
500.0252
500.0431
400.0987
500.0227
000.0552
500.0362
109.0059
173.0005
173.0007

770.0577
500.0432
500.0433
500.0252
500.0431
400.0987
500.0227
000.0552
500.0251
500.0213
109.0059
173.0005
173.0007

773.0558
772.0519
009.0201
109.0059
173.0005
173.0007

770.0585
500.0432
500.0433

Produci-

group
9010
9010
9010
9010
9010
9010
9010
9010
4050
9010
9010

2005
2005
9010
4050
9010
9010

2005
9010
9010
9010
9010
9010
9010
9010
9010
4050
9010
9010

2005
9010
9010
9010
9010
9010
9010
9010
9010
9010
4050
9010
9010

2005
2005
9010
4050
9010
9010

2005

9010
9010

6.13



Connecting modules for ABITIG® GRIP / Little / -MT (liquid cooled)

Pos.

24
24
24
24
24
24
24
24
24

25
25
25
25
25
25
25
25
25
25
25
25

Description

Strain relief

Sealing cover

Lock ring ND 31

Cable support spring

Pan head screw M4x6

Screw cap 2

Hose 49 black @ 3.9x1.5

Hose clamp @ 8.2 mm with ring (mark 8.7)
Hose clamp @ 7.5 mm with ring (mark 8.0)
BCS-37 compatible Merkle

BCS-37 connecting module

Cable support machine side small

Cable support machine side cover small
Strain relief

Sealing cover

Lock ring ND 31

Cable support spring

Pan head screw M4x6

Screw cap 2

Hose 49 black @ 3.9x1.5

Hose clamp @ 8.2 mm with ring (mark 8.7)
Hose clamp @ 7.5 mm with ring (mark 8.0)

Units

20 Pcs.
20 Pes.
40 m

20 Pcs.
20 Pes.

20 Pes.
20 Pes.
40m

20 Pes.
20 Pcs.

Part-No.

500.0252
500.0431
400.0987
500.0227
000.0552
500.0362
109.0059
173.0005
173.0007

770.0594
500.0432
500.0433
500.0252
500.0431
400.0987
500.0227
000.0552
500.0362
109.0059
173.0005
173.0007

Produci-

group
9010
9010
9010
9010
9010
9010
4050
9010
9010

2005
9010
9010
9010
9010
9010
9010
9010
9010
4050
9010
9010



